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Pilar

Nome
Seção

X Y Carga Máx. Carga Mín. Mx My Fx Fy

(cm) (cm) (cm) (kgf) (kgf) (kgf.m) (kgf.m) (kgf) (kgf)

P1 20x77.5 6943.05 356.30 14200 9600 12400 1100 400 4000

P2 20x77.5 7543.05 356.30 10500 10100 5000 900 500 900

P3 20x60 8143.05 365.05 11100 10800 4600 1000 800 900

P4 20x60 8743.05 365.05 11100 10800 4600 900 600 900

P5 20x60 9343.05 365.05 11100 10800 4600 900 600 900

P6 20x60 9943.05 365.05 11200 10600 4600 900 1100 900

P7 20x60 10543.05 365.05 17400 13000 8800 1400 1800 4200

P8 15x30 7173.05 325.05 8900 7000 200 900 700 100

P9 17x30 6943.05 -69.95 6600 4800 700 700 1100 900

P10 15x30 7173.05 -69.95 9000 7300 200 800 1100 100

P11 17x30 6943.05 -294.95 20300 16400 1000 500 700 1200

P12 13x30 7283.05 -294.95 10000 6800 200 600 400 200

P13 25x40 10540.55 -294.95 29100 25500 3900 11900 1000 2500

P14 20x20 6943.05 -599.95 8800 6700 400 400 400 700

P15 13x30 7283.05 -599.95 7200 5600 200 1100 1000 300

P16 17x30 6943.05 -769.95 8500 6700 1000 400 400 1200

P17 13x30 7283.05 -769.95 7100 5700 200 1100 1000 400

P18 17x30 6943.05 -1074.95 21700 18300 800 500 700 800

P19 13x30 7283.05 -1074.95 10600 7400 200 600 400 300

P20 25x40 10540.55 -1074.95 30800 27200 3600 11900 900 1500

P21 17x30 6943.05 -1299.95 6700 5100 1000 700 1100 1200

P22 15x30 7175.55 -1299.95 8100 6600 300 700 1100 100

P23 20x77.5 6943.05 -1726.20 12400 7700 12100 1100 400 2500

P24 15x30 7175.55 -1694.95 9100 7100 300 900 700 100

P25 20x77.5 7543.05 -1726.20 10800 10400 4000 900 500 900

P26 20x60 8143.05 -1734.95 11100 10800 3700 1000 800 900

P27 20x60 8743.05 -1734.95 11100 10800 3700 900 600 900

P28 20x60 9343.05 -1734.95 11100 10800 3700 900 600 900

P29 20x60 9943.05 -1734.95 11200 10600 3700 900 1100 900

P30 20x60 10543.05 -1734.95 15400 11000 8500 1400 1800 2500
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